
Retract Pin Cylinder SZV 60 
 
--- - 

Subject to technical modifications 26.07.2011 
 

TÜNKERS® Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratin gen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de  

 

    Spare parts     
 

      Pos.  Part-No. Quantity Description Type Flag 1 
10 243999          1.00 Housing SZV 60  
20 244000 1.00 Housing plate SZV 60  
30 255809 1.00 Push rod SZV 60  A01  
 293000          1.00 Push rod SZV 60  A12/A32  
 244133 1.00 Push rod SZV 60  A22/A42  

40 243585 2.00 Bush J32,0/40,0 x 40,0  DIN 1850 R 
50 245010 1.00 Spacer tube SZV 60 R 
60 243586          1.00 Stripper 32/45,0x 4,0/8,0 RD 
70 244130          2.00 Shaft SZV 60  
80 200580 2.00 Hexagon socket set M4 x 8 DIN 914  
90 276722 4.00 Roller compl. SZV 60 R 

110 244150          1.00 Slide shaft SZV 60 R 
120 201586          6.00 Bush 16,0/18,0 x 15,0  DIN 17662 R 
130 244151 1.00 Angle lever SZV 60  
140 244132 6.00  SZV 60 R 
150 244149          2.00 Shaft SZV 60  
160 201298 4.00 Retaining rings for shafts A16,0 x 1,00 DIN 471  
170 244148 1.00 Shaft SZV 60  
180 252399 1.00 Parallel pins,hardened 3,0m6 x 20 DIN 6325  
190 244153 1.00 Cylinder strap SZV 60 R 
200 244312 1.00 Fork piece SZV 60  
210 244311 1.00 Piston rod SZV 60  
220 210314 1.00 Piston seal Ø 16/Ø 25,0 x 2,8 RD 
230 243588 1.00 Piston Pneuko G 60 x 12 x 8 RD 
240 200761 1.00 Disc  A 13,0 DIN 125  
250 200730 1.00 Hexagon thin nuts M 12 DIN 985  
260 244310 1.00 Cylinder cover SZV 60  
270 201804 1.00 O-Ring 54,00 x 3,0 RD 
330 206356 2.00 Supporting plate KU 50 R 
340 200133 2.00 Cylinder head M4 x 8 DIN 912  
350 200173 5.00 Cylinder head M6 x 25 DIN 912  
360 225087 2.00 Parallel pins,hardened 8,0m6 x 28 DIN 7979  
370 200540 2.00 Hexagon socket set M6 x 8 DIN 913  
    Spare parts / accessories     

      
Pos.  Part-No. Quantity Description Type  

 279315 1.00 Repair kit SZV 60  
 279316 1.00 Seal kit SZV 60  

280 276806 1.00 Switch cartridge compl. SZV 60 T12  

                                                
1  R = included with repair kit, D = included with s eal kit 



Retract Pin Cylinder  Spare Parts Drawing  SZV 60
 
--- - 

 Subject to technical modifications 26.07.2011 
 

TÜNKERS® Maschinenbau GmbH Am Rosenkothen 8 • D-40880 Ratin gen           Tel. 02102 4517-0 • Fax 02102 445808 Internet www.tuenkers.de  

 

 
 

 


